R

N

SR FERE IR B E(BIR)

A AR

B3 Z/e E£4R




AL FRTEE LT

A Guided TOEFL Reader

H® F)N T4

IBTVRTIAS B



T 4w H B TN
FlEem 5 1B REM
¥ B OE &
ARSI ER RIS

A Guided TOEFL Reader

mE T TR

IBTUE LR BT HRAR T
(IBTEMBRXELE 21 S #BY%R 1500060
SERMEEHIRIT EIR

2 787 x 1092 1/36

Elst¢ 11.25

T 2R FF

2000 FF 10 B35 2hR 2000 £ 10 B % 2 RENRI
E#L 6 000 ~ 10 000

ISBN 7-5603-1180-6/H"92

TET 14.80 7T



AEREIS
Preface fo
the Revised Fdjition

GRACITIR B RS HMUG , 28 T i Bing %
Fe ERFEMZER, LM a3, BAILER T 2k
BORAMME , I HOR L
AEAT B B RRISEE B R, RITERT —
SR EANA L, ISR T AP, X R R
HIFLEs  FRATX A (0 65 M BEAT T 80 4 T A 2, A
REHW L REWFER.
LIEINT AR SY  RAREAE 2 B0 4% At
RN B4R BEE 25, I i M R T R
TR 5k 5 R FE AR B0 3 B 4R R 5 1
2RI B H B PRTE B, ROV M T 55 1
"BEERUUREIE BTG, R R T
BRI R ZUAC B  — 3B 4T 1) 0 1. B
B — S5 B HERS 4 B9F 3



2 A Guided TOEFL Reader

3.3 B4 1 R SRk, BRATTH R R
ﬁ%ﬁﬁ%ﬁ[%iﬁﬁﬁﬁ&%ﬁ%%ﬁo
4T UL TSR S BB R R B

S 24 A~ S TCAHIE N 18 DR IG
%2&»%%&%?@&%%%ﬁ$%%%ﬁm

%5

W&
2000.7



5 R

Confenfts

F—Es MBSHEIT 1

(& @285 H MO ¥ 4 04 3048 1) if X8 04
IR RS R L)

SE@ nERE 7

(HR AT A LAk AL, 5 8 o ik 2 £ A48
Pl AEALHE T 4R F ALk B R i Ak )

E=ERS STHEZ 19

(M 3 NS o AAE DA, 26 ok ok B %
c%‘ \%#ﬂ‘c&%\%{%%ﬁ%&%%iﬂﬁi)



FE—ED MESHEIT
Section | Regularities and
Technigues

OB AR A AE R R, R LA
B HAEM MR IR AR & L, B, % F
AR BEE 2 I He U, Hi BB E B M B
ABRHFB. BAARLIRTIE—— BN TR S h A7
TSRS PR 2 DR BB 0 3 1 4 ARG T
HAEARARREL BT “WT J AR R SR 4 PR 4
HIRETIFUKY:, B HAE iR P i B B B —— 40

AE 2, EREA R BB KR T4 % i g
"B EREAR " SCPR AR SR R 154 7 R B )
BRSPS o R R BB REZ . e e
BEA MR, ATIBMIR S, BRI F — # e it
REB R B — , BN ER A B ) FEOR R REAE LS o A
IB0 VA S FEL DR B4 55 L A5 5 40 5 T X7 2400 1 250 4
WA R E AR OB TR,

52O R 20 R ) R LSS R I — B AE R p
HRENGE— B L ABA RN BB
(DIEBRI BB B 25 (2) — s B0 BESTER . i
LMK RE —ERE FRRE 5% > [y %
RS B , BTN " B3 8 i 47
T 26 B 15 2 i L 6 FRS ) 1k B R b B

=
=




2 A Guided TOEFL Reader

5 T A TEARY 7 25 S B IR S S Rk — 3 U

fEA AR TR AR AR B A (U 5 —  3RAT]
WA A FCAR A kP B AR 4 0 AL P
S A S LS B 8k BT B B A —
A B L AT I R T TR AR b
ATHARYE B © 0 2 LA IR #0F S B R PR 1Y
R R H — R . 3 i T A SRR
S BT A L R T 2 T A LR FE R
AT L3k [EFTAR I 1 D Sfe BT VI 04 180 B2 A R AR
A RR BB TE 20 A LT TO B R T A 5 1A 1
450 1A 25 2 TR L MR R T AR B 0 T R DL R
B

O, FRATR R A — ARl

& hART— TR A S L e A,

TE—E RE T FURR A AT AR 1 A 1
ofik, B E iR AXRIDEA R BARK L
£ s FUE L W B AL —— X R I
D e — e B b - S| WAL/ NS IR 8.5 22 W e
B HERIR %5 7 1 HS A B BT Y LR

(—)A—EMAEE LR RN EERIRT EAE
NCCEERA AR F BB ARR . ASCERIRIIR X B
[ 5 S (R LAAT) I B S R BRI, b H
S B AR M ) S0 (R TAER I AP AR HAE iR 1
FEE, —RA N RER N A) MEAR (19 HEER S
ERFAEEMEARBH A E) N ER, BRFRTES
B%TF 5 AREEXRRBIFDHER(MESE AR,
R ) FI— 52 A BL, A W Y LR E
o T — S22 5 B RB R (g b B0F)
HIAR Al Ko

HABFT IR E7E S 1F 1 2 1“0 " (narration) F




- Section | Regularities and Techniques 3

L R E s ) — 25 8 B 5 “ A 487 (exposition) TF 15,
“BUL" (argument) B # MAF 1 ; H ik, B BIH T3
S XEH RN HIE — AFR (T 5 we B & FhIE
H)BE AR Cyou” BIEFER) . “WE” (descrip-
tion) A A LK) .
THEU B EEfE R ATENA ol 66 4 3 P ik %

PR, TR 2 AN A )RS T o

O OERNTHGE X T HEIER LA ETEER, AMWE
FEAR — 6 (H— AT DA SR LT +JLH
. 4] ( MNustration) ;
55 (Description) ;
A (Narration ) ;

2B B UL (Expository) ;
KR % & (Cause and Effect) ;
[] &7 K fif B ( Problem and Solution) ;
He 3 ( Comparison) ;
X £ ( Contrast) ;
. BRI (Natural Order (Sequence of Events)) ;
10. 1T#2(Process) ;
11. % X (Definition) ;
12. [8]%F (Question-Answer) ;
13. %% (Listing) ;
14. 432 (Classification/Partition)

OO\IO\LI!-D-LAN._.

\©

“For example”, “B R K RAL”"H “As a result of”. “Be
cause” 55 R 2 B PR A1, A M T RA1IME
SCEEH T B PTE , I 48 55 e 458 53 BE RN AR BE 7
(Z)1995 4 8 AFEHEHE A WA G , WL aERsy
ERHARCEAR SR CENRERAKESSE
WA Y B 1999 4F, G5 CEE A B — R 7E 300 ~ 350
A, SR ERE T 1700 M EA, JSHEETE
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PO “ IR 46 B RS B AR AR, BT B EA
3 400 ~ 3 500 i, HLAE MRS [ 55 4. WATLA
A B MR A—2 5 M AR =2 -8 e
—, WA EHIERTLBEA 3~ 5 28K HLaht
)7 B Ra e L FE I ). R - RIIMERE R, B
4 BB R 3R g B B 4 100 18

AL RNEEA K" AN, B A",
BRIt EE R E o U R, A E LK
95% LA LI 3 -

1. ikt ek o0 BAB (Topic or main idea) (£9 7 & &
Bl 8% , BN PDES, Y RITER HHE —EE) . ¥
AT

What’ s this passage mainly about?

With what topic is this passage mainly concemed?

What does the passage mainly discuss?

2. A BUIE T (Detail) (44 4 SREE 30%) o WL
H A

According to the passage, ...

According to the first paragraph of the passage, ...

3. JACA$E /X (Vocabulary and Reference) (29 (7 &
BRI 35% ~40% ) o W R HRE A

Which of the following is closest in meaning to the word
“virtually” in line 197

The word “it” in line 7 refers to which of the following?

4. HE3E (Inference) (4 i BB K 20% ~ 25%) .
L HETE

It can be inferred from the passage that . ..

Which of the following can be inferred from paragraph 27

PAE Pk B — i 5 B 96% ~ 98% 5
2, BEDHAH 48 ~ 49 HER TiX 8L,

FRE FLAN, B — B R EME XA H
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W EBR e R I E TR

1. 3CK XA BV 3 B9 75 B ( Tone, Style or Atti-
tude) o I RETE 2 -

When the author says ... he is most probably . ..

2. B SRS (Suucture) o # I HEIHE 2

The structure of the passage consists of . ..

3. EFIE R (Rhetorics) . ¥ 7L H R .

The author uses a metaphor when he says ...

4. AB(EBE) HEFR (K H#ETR) (Structural Inference) ,
WIS EIE R

The paragraph preceding this passage is most probably
about . ..

The part of writing succeeding this passage is most likely
about .. .

5. JRES{E BAEE (Generalization) o # WL H IR .

Which of the following not true of .. .?

All of the following are true except . ..?

FEAR i PR BT A 305 4 T o B AU B |
9 WBiE ” , B L e BRI 5 2 R 7 302 R B
F—%. BAZREZIRFN%E S0 RE,

FEX IR 35 “ M8 " 5% — 45—
TR T EHEF RGBS EENE L,

TaAMKELHT S Fogiedd XK F LK R
it — T 4648 WML 55 A, |

FEARA I 7 352 0 B 3 4 A AT AR g
s

1. SEESCE G, BBEANFR, tRR
HEAEGELSTHER IR, AHELS0M0A, EhTFHE
HINEETE  RHERENSMNES I & SNE BRI
1" REBAKIF": BRIET R, AEITENE L
ForAERR BRI e R 4 R AT 15 P [ 3 S o e 4
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8BTS RN BE A ERT
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HRERERMNEST KBERASS R LR E
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E_HH IELF
Section [I Working with
Instructions

TEEATREARZE X MR FHiEE AR
BENEREREF B’J*T{EE*YEEE #ﬁi‘*—?ﬂﬁlﬂf
BT IR R , T

//'J "’Yb’_ L “’ ),“:‘ x"&‘u
xr{ \ 7b l (’ﬁ i (ai
A snowfall consists of mynads ‘of minute ice cxys s that

Passage 1

fall to ground in the form of frozen precipitation. The forma-

tlon of snow begins with thesc 1ce crys{als in the subfreezing
stra pf

he, middle” énaL up r “6; he when there is an
[ theymi ol ,r%

: ai‘T Ate su) 1 of m1s re core “of every ice
1 lx c:f g & ‘fF’Mv %;y

crys 18 \ ” p l{l rﬁ‘ l;,?e’%‘ﬁ 5
around which mmsture cop eﬁnses an ezes (E ﬁ)
(%5 4 B LT BR1E) quu1d water dlop)iets %oatmg in the

super-cooled atmosphere and free ice. ,grystals gaﬁnot E‘&xmf o

within the same cloud, sincé thé v@por%px‘essune 8 ice ‘i iess
than that of water. This enables the ice crystals to rob the li-
quid droplets of their moisture and grow contmuously The pro-
cess can be very rapid, quickly creating sxzable ice crystals,

some of which_adhere (% 4 ) to each other to create a
cl\us@yﬂ} icé crystals or a snowflake. Simple flaked ) possess a
variety of beautiful forms, usually hexagdnal though the sym-

ﬁ.,w YRR 'l y(a\\/
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o metrical shapes reproduced in most lniéfos\ébf)e phoiography of

_ snowflakes are not usually found in actual snowfalls. Typical-
- ly, snowflakes in actual snowfalls consist of broken fragments

Yl

and clusters of adhering ice crystals. N

(55 5 BT DA B FF 4313 ) For a snowfall to_continue
once it (55 6 ) starts, there must be a—{ conStantf}mﬂow of
moisture to supply the nuclei. This moisture is supplied by
the passage of an airstream over a water surface and its subse-
quent lifting to higher regions of the atmosphere. (34~ A] LA
W BIE AR IR S 5 ) (5% 8 REMBLIT 4R 38 ) The
Pacific Ocean is the source of moisture for most snowfalls west
of the Rocky Mountains, while the Gulf of Mexico and the At-
lantic Ocean feed water vapor into the air curents over the
central and eastern sections of the United States. Others geo-
graphical features also can be the source of moisture for some
snowstorms. For example, areas adjacent to the Great Lakes
experience their own unique lake-effect storms, employing a
variation of the process on a local scale. GREIEE 8 B (5
10 B TF 44 3£) In addition, -mountainous sections or ris-
ing terrain can initiate snowfalls by the geographical lifting of

a moist airstream. (172@% 1083,)

1. Which of the following questions does the author answer in
the first paragraph?
A.Why are snowflakes hexagonal?
B.What is the optimum temperature for snow?
C.In which months does most snow fall?
D.How are snowflakes formed?
A T3 = =AY B ¢ T formation of snowflakes”
FEHNE ERBRE B D

2. The word “minute” in line 1 is closest in meaning to
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A . tiny B. quick C.clear D. sharp
ERGEN=NAEF. MEAEE = ®IHa]
LA “minute” — 183X B 2L A 0], BE /N7,
MERAGBR “A". BHIE,

. What is at the center of an ice crystal?
A. A small snowflake B. A nucleus
C. A drop of water D. A hexagon
ERWERM=AHNES (1) XHH“At the core of
every ice crystal is a minuscule nucleus”, ikaﬁﬁs
g |

. The word “adhere” in line 14 is closest in meaning to
A . belong B. relate C.stick D. speed
M1 T “adhere” BB KM " . “ME" %, BER LR
“CTo BEER S,

. What is the main topic of the second paragraph? (3% [B]3C
)

A .How ice crystal form

B . How moisture affects temperature

C. What happens when ice crystals melt

D. Where the moisture to supply the nuclei come from

B T/ P15 — B 58" the moisture to supply the nu-
clet”, T LIEBAE R IZRE“D", 5 6 i,

. The word “it” line 22 refers to (GR [FICE S 10 47)
A.snowfall  B.snowflake C.cluster D . moisture
B TAa] b QP KRBT “snowfall”, BT LA R REER
Ao 7 N

. What is necessary for a snowfall to pers15t‘? ‘
A. A decrease in the number of snowflakes
B. Lowered vapor pressure in ice crystals

2y

C. A continuous infusion of moisture
D. A change in the direction of the airstream
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ARERAES B O R, TUBEREC.
5 8 R

8. How do lake-effect snowstorms form? (iR [5] 3L )
A . Water temperature drop below freezing
B. Moisture rises from a lake into the airstream
C.Large quantities of wet air come off a nearby mountain
D. Millions of ice crystals form on the surface of the lake
M T X WA I EB & “ supply of moisture in the
air”, MASBARA T2 B4 2 lake” , JIT LB 2 ) 1% S
BT B 9 M

9. The word “initiate” in line 38 is closest in meaning to
A .enhance  B.alter C.increase D. begin
“initiate” f& — BN 1A I 12 LB 19 3R)Y, T HL ik
WUZ ) DX o BE " R, BT AR 3R Il S0 &, & 5
D7, B 10 8.

10. Which of the following could account for the lack of
snowfall in geographical location close to mountains and a
major water source? (3% [E]3CE)

A. Ground temperature below the freezing point

B.Too much moisture in the air

C. Too much wind off the mountains

D. Atmospheric temperature above the freezing point
s AL ERAH B (BAA BN AT
K BIRT IR 2 S rh T4 K IR, 5IRE T4,
BCCAT DTS HEBR B B I N A SC P B B
FRA, LGN TSR RER C,

Passage 2 ‘

By the 1820s in the United States, when steamboats

were common on western waters, these boats were mostly pow-

ered by engines built in the West (Pittshurgh, Cincinnati, or
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Louisville) and of a distinctive western design specially suited
to western needs. The first steam engine in practical use in
England and the United States were of low-pressure design.
This was the type first developed by James Watt, then manu-
factured by the firm of Boulton and Watt, and long the stan-
dard industrial . (B2 1 8) (5 2 MM E#E) Steam was
accumulated in a large, double-acting vertical cylinder, but
the steam reached only a fgf;goﬁhtfsiéf “pressureper square
inch. It was low-pressure engines of this type that were first
introduced into the United States by Robert Fulton. He im-
ported such a Boulton and Wait engine from England to run
the Clement. (GRBISE 2 B (% 3 B R I EAE ) But this
type of engine was expensive and complicated, requiring many
precision-fitted moving parts.

The engine that became standard on western steamboats
was of a different and novel (£ 4 #) design. It was the work
primarily of an unsung hero(5% 5 1) of American industrial
progress, Oliver Evans (1755 ~ 1819). (GR[BI%S 3 B (& 6
U I EE#E ) The self-educated son of a Delaware farmer, E-
vans early became obsessed hy the possibilities of mechanized
production and steam power. As early as 1802 he was using a
stationary steam engine of high-pressure design in his mill.
Engines of this type were not unknown, but before Evens they
(5% 8 /) were generally considered impractical and danger-
ous. (IR [EI£f 6 #11)

(%8 9 B LA ) Within a decade the high-pressure
engine, the new type, had become standard on westem wa-
ters. (3% 12 BE B2 ) Critics ignorant of western condi-
tions often attacked it as wasteful and dangerous. (JR B 5f 12
#) But people who knew the Ohio, the Missouri, and the
Mississippi insisted, with good reasons, that it was the only



